

# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 15, 2024

Progress Estimate Number		Contract ID Prime Contractor	240419-C02 Emery Sapp & Sons			Original Contract Amount Net Change Order Amount Current Contract Amount	\$5,294,999.99 \$0.00 \$5,294,999.99		
Approval Date									
July 16, 2024		Generated and Approved (and should be considered Draft) at the Project Office Level by							
July 17, 2024		Re	eviewed and Approve	d (and should be conside	red Draft) at the	Resident Engineer Level by	rileyr1		
July 17, 2024			Re	viewed and Approved at	he Central Office	e Controllers Office Level by	ramses1		
Original Comp	letion Date	Current Com	pletion Date	Actual Completion Date % of Current Contract Ar			mount Complete		
November	1, 2024	November	r 1, 2024		8.15%				

	Contract Informational Date	tes	Milestones
Date Description	Original Completion Date	<b>Current Completion Date</b>	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	May 1, 2024	May 1, 2024	
Letting Date	April 19, 2024	April 19, 2024	
Notice to Proceed Date	May 16, 2024	May 16, 2024	
Open to Traffic Date			
Work Began Date	July 1, 2024	July 1, 2024	

Contract Total Pa	y For Estimate No. 1				
		This Estimate	Previous	To Date	
240419-C02					
	Total Posted Items Pay	\$431,507.46	\$0.00	\$431,507.46	
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$0.00	\$431,507.46	
Contract Total Page	yable This Estimate:	\$431,507.46			

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4I3366	0070	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$271.600	310.7	\$84,386.12
	0100	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$9.600	1,078	\$10,348.80
	0110	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$8.500	220	\$1,870.00
	0120	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$16.800	110	\$1,848.00
	0130	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	EA	\$9.050	55	\$497.75
	0210	6181000	MOBILIZATION	LS	\$142,150.000	0.25	\$35,537.50
Project J4	13366 - To	otal					\$134,488.17
J4I3366B	0340	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$271.600	785	\$213,206.00
	0370	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$9.600	2,777	\$26,659.20
	0380	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$8.500	398	\$3,383.00
	0390	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$16.800	230	\$3,864.00
	0400	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	EA	\$9.050	120	\$1,086.00
	0480	6181000	MOBILIZATION	LS	\$195,284.350	0.25	\$48,821.09

Revision 3/23/2023 Page 1 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 15, 2024

Progress Estimate Number 1	Contract ID Prime Contractor	240419-C02 Emery Sapp & Sons, Inc.		Original Contract Amount Net Change Order Amount Current Contract Amount	\$0.00

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount	
Project J4	113366B - 1	Total					\$297,019.29	
Overall	Total						\$424 507 46	

## Contract Adjustments This Estimate

David (		Harris Day 11 11	A disease of	041	2	A disease of	Line II	A discrete
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4I3366	0070	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-310.7	\$271.60	(\$84,386.12)
	0070	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	310.7	\$271.60	\$84,386.12
	0110	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material			-220	\$8.50	(\$1,870.00)
	0110	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	220	\$8.50	\$1,870.00
	0120	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Material			-110	\$16.80	(\$1,848.00)
	0120	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	110	\$16.80	\$1,848.00
	0130	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Material			-55	\$9.05	(\$497.75)
	0130	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.	55	\$9.05	\$497.75
J4I3366B	0340	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-785	\$271.60	(\$213,206.00)
	0340	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	785	\$271.60	\$213,206.00
	0380	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material			-398	\$8.50	(\$3,383.00)
	0380	DOWEL BAR (DRILLING,	Material		This adjustment offsets the original system-	398	\$8.50	\$3,383.00

Revision 3/23/2023 Page 2 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 15, 2024

Progress Estimate Number	Contract ID				Original Contract Amount	
1	Prime Contractor	Emery Sapp & Sons, Inc.	Pay Period End	July 15, 2024	Net Change Order Amount	\$0.00
•					Current Contract Amount	\$5,294,999.99

					ψο,201,000.00						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount			
J4I3366B		FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR			generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.						
	0390	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Material			-230	\$16.80	(\$3,864.00)			
	0390	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	230	\$16.80	\$3,864.00			
	0400	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Material			-120	\$9.05	(\$1,086.00)			
	0400	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 20 on the current Payment Estimate.	120	\$9.05	\$1,086.00			
Total								\$0.00			

Revision 3/23/2023 Page 3 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

						Contract Project Information	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J4I3366	IS 70-2(129)	Coldmill and resurface	I-70	SALINE	the west bound lanes from	n the Blackwater River brid	dge to the Cooper County line
J4I3366B	I 70-2(123)	Coldmill and resurface	I-70	SALINE	the east bound lanes from	the Blackwater River brid	ge to the Cooper County line
Γotals by J	ob Number	s					
J4I3366	Posted	Item Pay			This Estimate \$134,488.17	Previous \$0.00	<b>To Date</b> \$134,488.17
		Item Adjustme		Item Pay	\$0.00 <b>\$134,488.17</b>	\$0.00 <b>\$0.00</b>	\$0.00 <b>\$134,488.17</b>
	Incenti				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
		ated Damages Contract Adjus	tments		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
J4I3366B					This Estimate	Previous	To Date
		Item Pay Item Adjustme		Item Pay	\$297,019.29 \$0.00 <b>\$297,019.29</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$297,019.29 \$0.00 <b>\$297,019.29</b>
	Incenti			•	\$0.00	\$0.00	\$0.00
	Disince Liquida	entive eted Damages			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
	Other 0	Contract Adjus	tments		\$0.00	\$0.00	\$0.00

Revision 3/23/2023 Page 4 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131010, Project Item Line Number 0070, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131010, Project Item Line Number 0070, Material Set 613101096, Material 0501CCSPEC - Concrete, Special, misc. or unusual use, Acceptance Action Generic 0501CCSPEC is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131010, Project Item Line Number 0070, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131010, Project Item Line Number 0070, Material Set 613101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131010, Project Item Line Number 0340, Material Set 613101096, Material 0501CCSPEC - Concrete, Special, misc. or unusual use, Acceptance Action Generic 0501CCSPEC is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131010, Project Item Line Number 0340, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131010, Project Item Line Number 0340, Material Set 613101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131010, Project Item Line Number 0340, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131015, Project Item Line Number 0110, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131015, Project Item Line Number 0380, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131017, Project Item Line Number 0120, Material Set 613101796, Material 1057JMDBEC6.11 - Dowel Bar Epoxy Ctd Gr60 1 1/4 @, Acceptance Action Generic ReinforcingMisc is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131017, Project Item Line Number 0120, Material Set 613101796, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131017, Project Item Line Number 0120, Material Set 613101796, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131017, Project Item Line Number 0390, Material Set 613101796, Material 1057JMDBEC6.11 - Dowel Bar Epoxy Ctd Gr60 1 1/4 @, Acceptance Action Generic ReinforcingMisc is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131017, Project Item Line Number 0390, Material Set 613101796, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366B, Item 6131017, Project Item Line Number 0390, Material Set 613101796, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131018, Project Item Line Number 0130, Material Set 613101896, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131018, Project Item Line Number 0130, Material Set 613101896, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366, Item 6131018, Project Item Line Number 0130, Material Set 613101896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131018, Project Item Line Number 0400, Material Set 613101896, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131018, Project Item Line Number 0400, Material Set 613101896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4l3366B, Item 6131018, Project Item Line Number 0400, Material Set 613101896, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Certifications saved to eProjects. Tests need entered into AWP.	degrow1	Overridden

Revision 3/23/2023 Page 5 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

e: Posted Q	uantities a	and Value	s are b	ased on Re	eport Generated date and can differ from the posted amo	ount at the t	ime the I	estimate was	s Gener	ated.		
Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0419-C02	J4I3366	0001	0010	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	897.50	0.00	897.50	TONS	0.00	\$104.00	\$0.00
		0001	0020	4030132	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)	1,568.30	0.00	1,568.30	TONS	0.00	\$140.25	\$0.00
		0001	0030	4071005	TACK COAT	2,244.00	0.00	2,244.00	GAL	0.00	\$2.65	\$0.00
		0001	0040	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	209,635.00	0.00	209,635.00	SQYD	0.00	\$5.70	\$0.00
		0001	0050	6122030	IMPACT ATTENUATOR (RELOCATION)	1.00	0.00	1.00	EA	0.00	\$1.00	\$0.00
		0001	0070	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	310.70	0.00	310.70	SQYD	310.70	\$271.60	\$84,386.12
		0001	0080	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	31.00	0.00	31.00	SQYD	0.00	\$10.65	\$0.00
		0001	0090	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	31.00	0.00	31.00	SQYD	0.00	\$10.65	\$0.00
		0001	0100	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	1,078.00	0.00	1,078.00	LF	1,078.00	\$9.60	\$10,348.8
		0001	0110	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	220.00	0.00	220.00	EA	220.00	\$8.50	\$1,870.0
		0001	0120	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	110.00	0.00	110.00	EA	110.00	\$16.80	\$1,848.0
		0001	0130	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	55.00	0.00	55.00	EA	55.00	\$9.05	\$497.7
		0001	0140	6161005	CONSTRUCTION SIGNS	961.00	0.00	961.00	SQFT	0.00	\$7.45	\$0.0
		0001	0150	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	0.00	\$53.00	\$0.0
		0001	0160	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	0.00	\$17.00	\$0.0
		0001	0170	6161033	DIRECTIONAL INDICATOR BARRICADE	60.00	0.00	60.00	EA	0.00	\$48.00	\$0.0
		0001	0180	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$800.00	\$0.0
		0001	0190	6161055	SEQUENTIAL FLASHING WARNING LIGHT	120.00	0.00	120.00	EA	0.00	\$47.85	\$0.0
		0001	0200	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$1,600.00	\$0.0
		0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$142,150.00	\$35,537.5
		0001	0220	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	69,919.00	0.00	69,919.00	LF	0.00	\$0.32	\$0.0
		0001	0230	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	57,378.00	0.00	57,378.00	LF	0.00	\$0.32	\$0.0
		0001	0240	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,624.00	0.00	2,624.00	LF	0.00	\$1.05	\$0.0
		0001	0250	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	22,439.00	0.00	22,439.00	SQYD	0.00	\$1.85	\$0.0
		0001	0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,267.00	0.00	2,267.00	SQYD	0.00	\$9.70	\$0.0
		0001	0270	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	501.80	0.00	501.80	STA	0.00	\$12.85	\$0.0
		13366 - Tot			te as of Report Generated Date							\$134,488.1
	J4I3366B	0001	0280	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	925.80	0.00	925.80	TONS	0.00	\$103.00	\$0.0
		0001	0290	4030132	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)	19,763.10	0.00	19,763.10	TONS	0.00	\$126.50	\$0.0
		0001	0300	4071005	TACK COAT	19,004.00	0.00	19,004.00	GAL	0.00	\$2.65	\$0.0
		0001	0310	4134000	BITUMINOUS FOG SEAL	15,228.00	0.00	15,228.00	GAL	0.00	\$0.01	\$0.0
		0001	0320	6122030	IMPACT ATTENUATOR (RELOCATION)	1.00	0.00	1.00	EA	0.00	\$1.00	\$0.0
		0001	0340	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	877.30	0.00	877.30	SQYD	785.00	\$271.60	\$213,206.0
		0001	0350	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	88.00	0.00	88.00	SQYD	0.00	\$10.65	\$0.0
		0001	0360	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	88.00	0.00	88.00	SQYD	0.00	\$10.65	\$0.0
		0001	0370	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	3,424.00	0.00	3,424.00	LF	2,777.00	\$9.60	\$26,659.2
		0001	0380	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,060.00	0.00	1,060.00	EA	398.00	\$8.50	\$3,383.0
		0001	0390	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	230.00	0.00	230.00	EA	230.00	\$16.80	\$3,864.0
		0001	0400	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	120.00	0.00	120.00	EA	120.00	\$9.05	\$1,086.0
		0001	0410	6161005	CONSTRUCTION SIGNS	604.00	0.00	604.00	SQFT	0.00	\$7.45	\$0.0
		0001	0420	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	0.00	\$53.00	\$0.00
		0001	0430	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	0.00	\$17.00	\$0.00

Revision 3/23/2023 Page 6 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240419-C02	J4I3366B	0001	0440	6161033	DIRECTIONAL INDICATOR BARRICADE	20.00	0.00	20.00	EA	0.00	\$48.00	\$0.00
		0001	0450	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$800.00	\$0.00
		0001	0460	6161055	SEQUENTIAL FLASHING WARNING LIGHT	40.00	0.00	40.00	EA	0.00	\$47.85	\$0.00
		0001	0470	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	ERFACE, CONTRACTOR FURNISHED, CONTRACTOR						
		0001	0480	6181000	OBILIZATION 1.00 0.00 1.00 LS						\$195,284.35	\$48,821.09
		0001	0490	6191000	PAVEMENT EDGE TREATMENT	50,176.00	0.00	50,176.00	LF	0.00	\$0.01	\$0.00
		0001	0500	6205902A	$\boldsymbol{6}$ IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS							
		0001	0510	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	57,615.00	0.00	57,615.00	LF	0.00	\$0.32	\$0.00
		0001	0520	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,298.00	0.00	2,298.00	LF	0.00	\$1.05	\$0.00
		0001	0530	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	190,042.00	0.00	190,042.00	SQYD	0.00	\$1.10	\$0.00
		0001	0540	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	501.80	0.00	501.80	STA	0.00	\$12.85	\$0.00
	Project J4	13366B - To	otal Value	Posted to D	ate as of Report Generated Date							\$297,019.29
240419-C02 Ove	rall - Total	Value Post	ed to Dat	e as of Repo	rt Generated Date							\$431,507.46

Page 7 of 12 Revision 3/23/2023



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

## The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J4l3366

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0070	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	7/11/24	7/12/24	310.70	SQYD	164.696 = 8 164.700 = 8 164.734 = 8 165.071 = 8 165.501 = 16 166.138 = 8 166.474 = 8 171.31 - 171.36 = 267.2 171.31 - 171.36 = 267.2 170.WB - 65 North Ramp = 27.4 Rte. 65 SB - 1-70 WB Ramp = 25.3 172.762 = 8 172.762 = 8					
0100	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	7/11/24	7/12/24	1,078.00	LF	164.696 = 36 164.704 = 36 164.734 = 36 165.071 = 36 165.501 = 36 166.138 = 36 166.138 = 36 167.131 - 171.36 = 786 171.31 - 171.36 = 786 170.WB - 65 North Ramp = 103 Rte. 65 SB - 1-70 WB Ramp = 98 172.762 = 36 172.762 = 36					
0110	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST	7/11/24	7/12/24	220.00	EA	164.696 = 16 164.700 = 20 164.734 = 20 165.071 = 19 165.5071 = 20 166.138 = 20 166.138 = 20 171.31 - 171.36 = 20 170.WB - 65 North Ramp = 28 Rte. 65 SB - 1-70 WB Ramp = 32 172.756 = 20 172.762 = 18					
0120	6131017	DOWEL BAR (FURNISH AND INSTALL WITH BASK	7/11/24	7/12/24	110.00	EA	171.31 - 171.36 = 120					
0130	6131018	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	7/11/24	7/12/24	55.00	EA	171.31 - 171.36 = 119					
0210	6181000	MOBILIZATION	7/11/24	7/12/24	0.25	LS	5% of J4I3366 complete.					

#### Project: J4l3366B

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0340 6131010	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	7/11/24	7/12/24	295.00	SQYD	77.218 = 62.1 77.221 = 8.7 78.037 = 8.7 78.037 = 8.7 78.037 = 8.7 78.037 = 8.7 78.457 = 8.47 = 42.7 78.457 = 78.470 = 42.7 79.455 - 78.470 = 42.7 79.093 = 8 84.090 = 8 84.277 = 8 84.311 = 8 84.336 = 14.7 84.367 = 8 84.375 = 8 84.375 = 8 84.375 = 8 84.375 = 8 85.345 = 14.7 84.367 = 8 85.345 = 8 85.345 = 8 85.345 = 8 85.345 = 8 85.345 = 8 85.345 = 8 85.345 = 8					
			7/15/24	7/15/24	490.00	SQYD	7/15: 85.282 - 85.360 = 458.9 yd2 85.695 = 8 yd2 86.674 - 86.677 = 24 yd2					
0370 6131014 FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR		7/11/24	7/12/24	1,131.00	LF	77.218 = 203 77.221 = 38 78.075 = 38 78.075 = 38 78.387 = 38 78.387 = 38 78.387 = 38 78.387 = 38 78.387 = 38 78.441 - 78.447 = 148 78.465 - 78.470 = 148 79.083 = 36 84.099 = 36 84.207 = 36 84.207 = 36 84.311 = 36 84.311 = 36 84.345 = 58 84.345 = 58 84.345 = 58 84.367 = 36 85.043 - 85 85.043 - 85 85.043 - 85 85.043 - 85 85.043 - 85 85.043 - 85 85.043 - 85 85.043 - 85 85.043 - 85 86.385 - 86 86.385 -						
			7/15/24	7/15/24	1,646.00	LF	85.282 - 85.360 = 1526 LF 85.695 = 36 LF 86.674 - 86.677 = 84 LF					
0380	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST	7/11/24	7/12/24	350.00		77,218 = 10 77,221 = 20 78,075 = 20 78,387 = 20 78,387 = 20 78,389 = 20 78,389 = 20 78,481 - 78,470 = 20 78,485 - 78,470 = 20 78,485 - 78,470 = 20 84,090 = 20 84,296 = 20 84,297 = 20 84,311 = 20 84,311 = 20 84,331 = 20 84,345 = 20 84,357 = 20 84,357 = 20 84,357 = 20 85,345 = 86,344 = 20 85,045 = 86,044 = 20					
			7/15/24	7/15/24	48.00	EA	85.282 - 85.360 = 8 85.695 = 20 86.674 - 86.677 = 20					
0390	6131017	DOWEL BAR (FURNISH AND INSTALL WITH BASK	7/11/24	7/12/24	48.00	EA	77.218 = 24 78.441 - 78.447 = 12 78.465 - 78.470 = 12					
			7/15/24	7/15/24	182.00	EA	85.282 - 85.360 = 200					

Revision 3/23/2023 Page 8 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0400	6131018	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	7/11/24	7/12/24	44.00		77.218 = 24 78.441 - 78.447 = 10 78.465 - 78.470 = 10					
			7/15/24	7/15/24	76.00	EA	85.282 - 85.360 = 135					
0480	6181000	MOBILIZATION	7/15/24	7/15/24	0.25	LS	5% of J4I3366B job achieved.					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 9 of 12



# Line Item Adjustments by Estimate

Contract ID: 240419-C02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4I3366	0070	FURN & PLACE CONC MATL	Material		1	Jul 15, 2024	SYSTEM	\$84,386.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		FOR FULL DEPTH			1	Jul 15, 2024	SYSTEM	(\$84,386.12)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0070 -	Total						\$0.00	
	0110	DOWEL BAR (DRILLING, FURNISHING	Material		1	Jul 15, 2024	SYSTEM	\$1,870.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
		AND INST			1	Jul 15, 2024	SYSTEM	(\$1,870.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0110 -	· Total						\$0.00	
	0120	DOWEL BAR (FURNISH AND	Material		1	Jul 15, 2024	SYSTEM	\$1,848.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
		INSTALL WITH BASK			1	Jul 15, 2024	SYSTEM	(\$1,848.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0120 -	Total						\$0.00	
	0130	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material		1	Jul 15, 2024	SYSTEM	\$497.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					1	Jul 15, 2024	SYSTEM	(\$497.75)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0130 -	Total						\$0.00	
J4I3366 -	Total							\$0.00	
J4I3366B	0340	FURN & PLACE CONC MATL	Material		1	Jul 15, 2024	SYSTEM	\$213,206.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		FOR FULL DEPTH			1	Jul 15, 2024	SYSTEM	(\$213,206.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0340 -	· Total						\$0.00	
	0380	DOWEL BAR (DRILLING, FURNISHING	Material		1	Jul 15, 2024	SYSTEM	\$3,383.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
		AND INST			1	Jul 15, 2024	SYSTEM	(\$3,383.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0380 -	· Total						\$0.00	
	(FURNI A	DOWEL BAR (FURNISH AND	Material		1	Jul 15, 2024	SYSTEM	\$3,864.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
		INSTALL WITH BASK			1	Jul 15, 2024	SYSTEM	(\$3,864.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0390 -	· Total						\$0.00	
	0400	TIE BAR	Material		1	Jul 15,	SYSTEM	\$1,086.00	This adjustment offsets the original system-generated Material Payment
	0-100	HE DAN	Material			Jul 10,	O.O.LIVI	ψ1,000.00	aajaounon onooto ino onginai system-generateu materiai r ayinelli

Jul 18, 2024



# Line Item Adjustments by Estimate

Contract ID: 240419-C02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4I3366B	0400	(DRILL, FURN &	Material			2024			Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
		INSTAL) (TYPE L			1	Jul 15, 2024	SYSTEM	(\$1,086.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0400 -	Total					\$0.00		
J4I3366B	- Total						\$0.00		
Overall - 1	Total						\$0.00		

# MoDOT

# Contract Adjustments for Contract - 240419-C02

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 12 of 12